Handout 1.3: Points, Lines, and Planes
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In Exercises 1-6, use the figure below. Find the length of each segment.
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For Exercises 7-11, use the figure at the right.
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Use the number line below for Exercises 12—16. Give the length of each
segment, then tell whether the segments are congruent.
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Algebra For Exercises 20-22, use the figure below. Find the value of PT.

17. PTr=5x+ 3and TQ = 7x — 9

18.

PT=dx — 6and TQ = 3x + 4 B : >

19. PT = 7x — 24and TQ = 6x — 2
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On a number line, the coordinates of P, Q, R, and S are —-12, -5, 0,
and 7, respectively.

22. Draw a sketch of this number line. Use this sketch to answer Exercises 23—26.
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23. Which line segment is the shortest?
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24. Which line segment is the longest?
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26. What is the coordinate of the midpoint of PR?
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b. If you drive an average of 46 mi/h, how long will it take you to drive
from city A to city C?
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